Cll# HaxoxaeHue nepeMeHHoM BeIM4uHsI (+, -, X, +)

Nwms:

Haiinure 3HaueHue X.

1) 58-3x=46 2)
3 108 +-5x=73 4)
5 119+-11x=42 6)
7 4x+61=285 8)
9 159-12x =51 10)
11) 73 + 5x = 88 12)

Ix+6=12
178 + -9x = 88
-4x + 55 =43
84 + -6x =24
3x +78 =90
142 - 8x =78

OTBeThI

10.

11.

12.
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Haxoxienue nepeMeHHON BEIUYuHbI (1, -, X, +)

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Haiinure 3HaueHue X.

1)

3)

S)

7

9)

11)

58 -3x=46
x =4

108 + -5x =173
x=17

119 +-11x=42

x=17

4x + 61 =85
X=06

159 - 12x =51
x=9

73 + 5x = 88
x=3

2)

4)

6)

8)

10)

12)

Ix+6=12
X=6

178 +-9x = 88
x=10

-4x +55=43
x=3

84 +-6x=24
x=10

3x +78=90
x =4

142 - 8x =78
Xx=28

OTBeTHL
1. 4
2. (;
3 7
4 10
5 7
6 3
7 6
8 10
9 9
10. 4
11. :;
12. f;
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Cll# HaxoxaeHue nepeMeHHoM BeIM4uHsI (+, -, X, +)

Nwms:
Haiigute 3Ha4eHMe X. OTBeTHI
9 6 10 6 4
3 7 10 4 7 1.
1) 58-3x=46 2) 1x+6=12 2
3.
4,
5.
3) 108 +-5x=73 4 178 +-9x =88
6.
7.
8.
9.
5) 119+ -11x=42 6) _4x +55=43
10.
7) 4x+61 =85 8) 84 +-6x =24
9 159-12x=51 10) 3x +78 =90
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